Count and Percent of WIC Mothers by Weight Gain During Pregnancy For Women Who Started WIC in the First Trimester And Had a Full Term Pregnancy From 04/01/2010 to 06/30/2010 Region 1

	LESS THAN IDEAL WEIGHT GAIN		IDEAL WEIGHT GAIN		MORE THAN IDEAL WEIGHT GAIN		UNKNOWN WEIGHT GAIN		
AGENCY CLINIC	COUNT	PERCENT	COUNT	PERCENT	COUNT	PERCENT	COUNT	PERCENT	TOTAL
CEDA - ALBANY PARK	26	33.3	31	39.7	21	26.9	0	0.0	78
OAK PARK DPH	3	15.0	6	30.0	11	55.0	0	0.0	20
TOTAL	29	29.6	37	37.8	32	32.7	0	0.0	98
BETHEL NEW LIFE - AUSTIN	1	16.7	1	16.7	4	66.7	0	0.0	6
BETHEL NEW LIFE - RICE	1	16.7	1	16.7	4	66.7	0	0.0	6
BETHEL NEW LIFE - TENDERCARE	1	14.3	2	28.6	4	57.1	0	0.0	7
BETHEL NEW LIFE WESTCARE	2	22.2	2	22.2	5	55.6	0	0.0	9
BETHEL WIC PROGRAM TOTAL	5	17.9	6	21.4	17	60.7	0	0.0	28

FY10Q4

	LESS THAN IDEAL WEIGHT GAIN			DEAL HT GAIN		HAN IDEAL HT GAIN	UNKNOWN WEIGHT GAIN		
AGENCY CLINIC	COUNT	PERCENT	COUNT	PERCENT	COUNT	PERCENT	COUNT	PERCENT	TOTAL
CEDA - ALBANY PARK	26	33.3	31	39.7	21	26.9	0	0.0	78
CEDA - CALUMET PARK/BLUE ISLAN	7	20.6	10	29.4	17	50.0	0	0.0	34
CEDA - DES PLAINES	11	22.0	17	34.0	22	44.0	0	0.0	50
CEDA - DIVERSEY	18	29.5	15	24.6	28	45.9	0	0.0	61
CEDA - EVANSTON N.A.W.	4	25.0	4	25.0	8	50.0	0	0.0	16
CEDA - HARVEY	2	15.4	5	38.5	6	46.2	0	0.0	13
CEDA - HOWARD AREA	4	11.4	11	31.4	18	51.4	2	5.7	35
CEDA - MAYWOOD	2	11.1	7	38.9	9	50.0	0	0.0	18
CEDA - MOUNT PROSPECT	5	26.3	8	42.1	5	26.3	1	5.3	19
CEDA - OAK LAWN	15	28.8	10	19.2	23	44.2	4	7.7	52
CEDA - OLD IRVING PARK	5	11.1	11	24.4	29	64.4	0	0.0	45
CEDA - ROLLING MEADOWS	7	36.8	5	26.3	7	36.8	0	0.0	19
CEDA - SKOKIE	2	18.2	4	36.4	5	45.5	0	0.0	11
CEDA - SUMMIT	7	24.1	9	31.0	11	37.9	2	6.9	29
CEDA -WIC BLOOM-RICH	2	18.2	5	45.5	4	36.4	0	0.0	11
CEDA WIC - CHICAGO HEIGHTS	8	20.5	11	28.2	20	51.3	0	0.0	39
OAK PARK DPH	3	15.0	6	30.0	11	55.0	0	0.0	20
CEDA TOTAL	128	23.3	169	30.7	244	44.4	9	1.6	550

FY10Q4

	LESS THAN IDEAL WEIGHT GAIN			DEAL HT GAIN		HAN IDEAL HT GAIN	UNKNOWN WEIGHT GAIN		
AGENCY CLINIC	COUNT	PERCENT	COUNT	PERCENT	COUNT	PERCENT	COUNT	PERCENT	TOTAL
ALIVIO MEDICAL CENTER	4	14.3	9	32.1	12	42.9	3	10.7	28
ASIAN HUMAN SERV FAM CARE CNTR	3	11.5	10	38.5	10	38.5	3	11.5	26
CDPH - AUSTIN HC	2	12.5	4	25.0	7	43.8	3	18.8	16
CDPH - ENGLEWOOD HC	3	16.7	4	22.2	11	61.1	0	0.0	18
CDPH - GREATER LAWN	6	30.0	4	20.0	10	50.0	0	0.0	20
CDPH - LAKEVIEW NHC	13	31.7	12	29.3	16	39.0	0	0.0	41
CDPH - LOWER WEST SIDE HC(WIC)	7	18.9	8	21.6	21	56.8	1	2.7	37
CDPH - ROSELAND HC	3	16.7	3	16.7	12	66.7	0	0.0	18
CDPH - SOUTH CHICAGO HC	4	10.3	7	17.9	28	71.8	0	0.0	39
CDPH - SOUTH LAWNDALE HC	10	23.3	18	41.9	13	30.2	2	4.7	43
CDPH - WEST TOWN HC	9	25.7	7	20.0	9	25.7	10	28.6	35
CDPH UPTOWN NEIGHBOR HC	17	33.3	17	33.3	14	27.5	3	5.9	51
CDPH-LOGAN SQUARE HEALTH CNTR	1	25.0	0	0.0	3	75.0	0	0.0	4
ERIE FAMILY HC - SUPERIOR ST.	16	31.4	9	17.6	15	29.4	11	21.6	51
FRIENDS FAMILY HEALTH CARE	2	28.6	1	14.3	3	42.9	1	14.3	7
HENRY BOOTH HOUSE	1	4.5	12	54.5	8	36.4	1	4.5	22
HUMAN RESOURCES DEV INSTITUTE	3	42.9	0	0.0	3	42.9	1	14.3	7
SINAI-S.KEDZIE/CDPH-WESTSIDEHP	7	29.2	7	29.2	10	41.7	0	0.0	24
WEST SIDE FUTURE	0	0.0	3	25.0	7	58.3	2	16.7	12
CHICAGO DEPARTMENT OF HEALTH TOTAL	111	22.2	135	27.1	212	42.5	41	8.2	499

7/19/2 FY10Q4

	LESS THAN IDEAL WEIGHT GAIN			DEAL HT GAIN		'HAN IDEAL HT GAIN	UNKNOWN WEIGHT GAIN		
AGENCY CLINIC	COUNT	PERCENT	COUNT	PERCENT	COUNT	PERCENT	COUNT	PERCENT	TOTAL
COOK CHD - BRIDGEVIEW	17	30.4	14	25.0	24	42.9	1	1.8	56
COOK CHD - CICERO	13	14.8	38	43.2	37	42.0	0	0.0	88
COOK CHD - HANOVER PARK	12	21.4	17	30.4	27	48.2	0	0.0	56
COOK CHD - MARKHAM	3	17.6	6	35.3	8	47.1	0	0.0	17
COOK CHD - MAYWOOD	18	25.4	19	26.8	33	46.5	1	1.4	71
COOK CHD - ROLLING MEADOWS	22	25.0	29	33.0	36	40.9	1	1.1	88
COOK CHD - S. E. HEALTH CENTER	5	25.0	4	20.0	11	55.0	0	0.0	20
FORD HTS. SERVICE CENTER	3	25.0	7	58.3	2	16.7	0	0.0	12
ROBBINS HC OF COOK CNTY	2	28.6	4	57.1	1	14.3	0	0.0	7
COOK CO DPT PBLC HLTH TOTAL	95	22.9	138	33.3	179	43.1	3	0.7	415
CCH-FANTUS CLINIC	3	27.3	4	36.4	2	18.2	2	18.2	11
CCH-PRIETO CLINIC	4	20.0	8	40.0	7	35.0	1	5.0	20
COOK COUNTY HOSP FANTUS CLINIC TOTAL	7	22.6	12	38.7	9	29.0	3	9.7	31
MILE SQUARE HC	5	35.7	6	42.9	3	21.4	0	0.0	14
MILE SQUARE HEALTH CENTER TOTAL	5	35.7	6	42.9	3	21.4	0	0.0	14
SINAI CI-KLING	30	23.8	40	31.7	53	42.1	3	2.4	126
WESTSIDE ASSOCIATION	4	30.8	2	15.4	5	38.5	2	15.4	13
MT SINAI HOSPITAL MED CTR TOTAL	34	24.5	42	30.2	58	41.7	5	3.6	139

FY10Q4

	LESS THAN IDEAL WEIGHT GAIN			DEAL HT GAIN	MORE THAN IDEAL WEIGHT GAIN		UNF WEIG		
AGENCY CLINIC	COUNT	PERCENT	COUNT	PERCENT	COUNT	PERCENT	COUNT	PERCENT	TOTAL
KOMED HOLMAN	6	30.0	3	15.0	11	55.0	0	0.0	20
LOUISE LANDAU HEALTH CENTER	2	14.3	3	21.4	9	64.3	0	0.0	14
NEAR NORTH HS - HUMBOLDT PARK	7	18.4	17	44.7	13	34.2	1	2.6	38
NEAR NORTH HS - NUTRITION CTR	5	25.0	5	25.0	8	40.0	2	10.0	20
NORWEGIAN AMERICAN WIC	5	29.4	5	29.4	7	41.2	0	0.0	17
UPTOWN COMMUNITY HEALTH CENTER	0	0.0	1	100.0	0	0.0	0	0.0	1
WINFIELD MOODY HEALTH CENTER	8	30.8	4	15.4	14	53.8	0	0.0	26
NEAR NORTH HLTH SERVICES TOTAL	33	24.3	38	27.9	62	45.6	3	2.2	136
ROSELAND COMMUNITY HOSPITAL	8	26.7	6	20.0	16	53.3	0	0.0	30
ROSELAND WIC CTR TOTAL	8	26.7	6	20.0	16	53.3	0	0.0	30
STICKNEY PHD	4	50.0	3	37.5	1	12.5	0	0.0	8
STICKNEY PUBLIC HLTH DIST TOTAL	4	50.0	3	37.5	1	12.5	0	0.0	8
TCA HEALTH, INC 71ST STREET	2	25.0	1	12.5	5	62.5	0	0.0	8
TCA HEALTH, INC E. 130TH ST	1	16.7	3	50.0	2	33.3	0	0.0	6
TCA HEALTH, INCCOTTAGE GROVE	2	66.7	1	33.3	0	0.0	0	0.0	3
THE CLINIC IN ALTGELD TOTAL	5	29.4	5	29.4	7	41.2	0	0.0	17
REGION 1 TOTAL	464	23.6	597	30.4	840	42.7	64	3.3	1965

FY10Q4

	LESS THAN IDEAL WEIGHT GAIN			DEAL HT GAIN	-	'HAN IDEAL HT GAIN	UNKNOWN WEIGHT GAIN		
AGENCY CLINIC	COUNT	PERCENT	COUNT	PERCENT	COUNT	PERCENT	COUNT	PERCENT	TOTAL
BOONE CHD	2	9.5	3	14.3	9	42.9	7	33.3	21
BOONE COUNTY HEALTH DEPARTMENT TOTAL	2	9.5	3	14.3	9	42.9	7	33.3	21
CARROLL CHD	3	23.1	4	30.8	6	46.2	0	0.0	13
CARROLL COUNTY HEALTH DEPT TOTAL	3	23.1	4	30.8	6	46.2	0	0.0	13
DEKALB - SANDWICH HOSPITAL	3	33.3	0	0.0	6	66.7	0	0.0	9
DEKALB CHD	11	14.5	15	19.7	35	46.1	15	19.7	76
DEKALB COUNTY HEALTH DEPARTMEN TOTAL	14	16.5	15	17.6	41	48.2	15	17.6	85
DUPAGE CHD - WHEATON	85	25.9	87	26.5	104	31.7	52	15.9	328
DU PAGE COUNTY HLTH DEPT TOTAL	85	25.9	87	26.5	104	31.7	52	15.9	328
GRUNDY CHD	5	38.5	1	7.7	5	38.5	2	15.4	13
GRUNDY COUNTY H D TOTAL	5	38.5	1	7.7	5	38.5	2	15.4	13
JO DAVIESS CHD	3	42.9	4	57.1	0	0.0	0	0.0	7
JODAVIESS COUNTY HEALTH DEPART TOTAL	3	42.9	4	57.1	0	0.0	0	0.0	7
KANE CDH	26	18.1	49	34.0	55	38.2	14	9.7	144
KANE CHD TOTAL	26	18.1	49	34.0	55	38.2	14	9.7	144
KANKAKEE CHD	22	30.6	23	31.9	27	37.5	0	0.0	72
KANKAKEE COUNTY HD TOTAL	22	30.6	23	31.9	27	37.5	0	0.0	72
KENDALL COUNTY HEALTH & HUMAN	7	31.8	7	31.8	8	36.4	0	0.0	22
KENDALL CHD TOTAL	7	31.8	7	31.8	8	36.4	0	0.0	22

FY10Q4

		HAN IDEAL HT GAIN		DEAL HT GAIN	MORE THAN IDEAL WEIGHT GAIN		UNKNOWN WEIGHT GAIN			
AGENCY CLINIC	COUNT	PERCENT	COUNT	PERCENT	COUNT	PERCENT	COUNT	PERCENT	TOTAL	
LAKE CHD - GRAND	100	26.1	108	28.2	164	42.8	11	2.9	383	
LAKE COUNTY HD TOTAL	100	26.1	108	28.2	164	42.8	11	2.9	383	
LEE CHD	4	30.8	3	23.1	6	46.2	0	0.0	13	
LEE COUNTY HD TOTAL	4	30.8	3	23.1	6	46.2	0	0.0	13	
MCHENRY CHD	33	25.8	34	26.6	56	43.8	5	3.9	128	
MCHENRY COUNTY HD TOTAL	33	25.8	34	26.6	56	43.8	5	3.9	128	
OGLE CHD - OREGON	1	12.5	4	50.0	3	37.5	0	0.0	8	
OGLE CHD - ROCHELLE	1	10.0	6	60.0	3	30.0	0	0.0	10	
OGLE COUNTY HEALTH DEPARTMENT TOTAL	2	11.1	10	55.6	6	33.3	0	0.0	18	
STEPHENSON CHD	3	12.5	7	29.2	14	58.3	0	0.0	24	
STEPHENSON COUNTY HEALTH DEPT TOTAL	3	12.5	7	29.2	14	58.3	0	0.0	24	
VNA FOX VALLEY - KANE	25	21.7	41	35.7	46	40.0	3	2.6	115	
VISITING NURSE ASSOC TOTAL	25	21.7	41	35.7	46	40.0	3	2.6	115	
GREATER ELGIN FAMILY CARE CNTR	18	25.7	20	28.6	32	45.7	0	0.0	70	
WELL CHILD - CARPENTERSVILLE	12	19.7	20	32.8	29	47.5	0	0.0	61	
WELL CHILD CONFERENCE	27	27.0	23	23.0	50	50.0	0	0.0	100	
WELL CHILD CONFERENCE TOTAL	57	24.7	63	27.3	111	48.1	0	0.0	231	
WHITESIDE CHD	2	5.3	16	42.1	20	52.6	0	0.0	38	
WHITESIDE COUNTY HEALTH DEPT TOTAL	2	5.3	16	42.1	20	52.6	0	0.0	38	
WILL CHD	42	25.9	44	27.2	75	46.3	1	0.6	162	
WILL COUNTY HD TOTAL	42	25.9	44	27.2	75	46.3	1	0.6	162	

Count and Percent of WIC Mothers by Weight Gain During Pregnancy Date: For Women Who Started WIC in the First Trimester And Had a Full Term Pregnancy From 04/01/2010 to 06/30/2010 Region 2

	LESS THAN IDEAL WEIGHT GAIN		IDEAL WEIGHT GAIN		MORE THAN IDEAL WEIGHT GAIN		UNKNOWN WEIGHT GAIN		
AGENCY CLINIC	COUNT	PERCENT	COUNT	PERCENT	COUNT	PERCENT	COUNT	PERCENT	TOTAL
WINNEBAGO CHD	30	22.7	32	24.2	70	53.0	0	0.0	132
WINNEBAGO COUNTY HD TOTAL	30	22.7	32	24.2	70	53.0	0	0.0	132
REGION 2 TOTAL	465	23.9	551	28.3	823	42.2	110	5.6	1949

7/19/2010

FY10Q4

	LESS THAN IDEAL WEIGHT GAIN			DEAL HT GAIN		THAN IDEAL GHT GAIN	UNKNOWN WEIGHT GAIN		
AGENCY CLINIC	COUNT	PERCENT	COUNT	PERCENT	COUNT	PERCENT	COUNT	PERCENT	TOTAL
BUREAU CHD	1	7.1	4	28.6	9	64.3	0	0.0	14
BUREAU COUNTY HEALTH DEPT TOTAL	1	7.1	4	28.6	9	64.3	0	0.0	14
CHAMPAIGN-URBANA PHD - CHAMPAI	11	16.4	27	40.3	29	43.3	0	0.0	67
CHAMPAIGN-URBANA PUBLIC HD TOTAL	11	16.4	27	40.3	29	43.3	0	0.0	67
FORD/IROQUOIS CHD-PAXTON-FORD	2	40.0	0	0.0	3	60.0	0	0.0	5
FORD/IROQUOIS CHD-WATSEKA-IROQ	1	12.5	3	37.5	4	50.0	0	0.0	8
FORD-IROQUOIS PUBLIC HD TOTAL	3	23.1	3	23.1	7	53.8	0	0.0	13
FULTON CHD	1	7.7	3	23.1	9	69.2	0	0.0	13
FULTON CHD - ASTORIA	0	0.0	2	66.7	1	33.3	0	0.0	3
FULTON COUNTY HD TOTAL	1	6.3	5	31.3	10	62.5	0	0.0	16
HENDERSON CHD - GLADSTONE	0	0.0	0	0.0	3	100.0	0	0.0	3
HENDERSON CHD - MONMOUTH	4	26.7	5	33.3	5	33.3	1	6.7	15
HENDERSON COUNTY HD TOTAL	4	22.2	5	27.8	8	44.4	1	5.6	18
HENRY CHD	6	18.8	12	37.5	14	43.8	0	0.0	32
HENRY CHD - COLONA	0	0.0	2	33.3	4	66.7	0	0.0	6
HENRY COUNTY HD TOTAL	6	15.8	14	36.8	18	47.4	0	0.0	38
KNOX CHD	8	29.6	6	22.2	13	48.1	0	0.0	27
KNOX COUNTY TOTAL	8	29.6	6	22.2	13	48.1	0	0.0	27
LASALLE CHD	12	27.3	11	25.0	21	47.7	0	0.0	44
LASALLE CHD TOTAL	12	27.3	11	25.0	21	47.7	0	0.0	44

FY10Q4

	LESS THAN IDEAL WEIGHT GAIN			DEAL HT GAIN		'HAN IDEAL HT GAIN	UNKNOWN WEIGHT GAIN		
AGENCY CLINIC	COUNT	PERCENT	COUNT	PERCENT	COUNT	PERCENT	COUNT	PERCENT	TOTAL
LIVINGSTON CHD	4	19.0	6	28.6	11	52.4	0	0.0	21
LIVINGSTON COUNTY HD TOTAL	4	19.0	6	28.6	11	52.4	0	0.0	21
MARSHALL CHD	2	28.6	2	28.6	3	42.9	0	0.0	7
MARSHALL CHD TOTAL	2	28.6	2	28.6	3	42.9	0	0.0	7
MASON CHD	1	11.1	3	33.3	5	55.6	0	0.0	9
MASON COUNTY HD TOTAL	1	11.1	3	33.3	5	55.6	0	0.0	9
MCDONOUGH CHD	0	0.0	5	38.5	8	61.5	0	0.0	13
MCDONOUGH COUNTY HD TOTAL	0	0.0	5	38.5	8	61.5	0	0.0	13
MCLEAN CHD	17	23.0	29	39.2	28	37.8	0	0.0	74
MCLEAN COUNTY HD TOTAL	17	23.0	29	39.2	28	37.8	0	0.0	74
MERCER CHD	1	14.3	3	42.9	3	42.9	0	0.0	7
MERCER COUNTY HD TOTAL	1	14.3	3	42.9	3	42.9	0	0.0	7
PEORIA CITY/CHD	22	21.0	26	24.8	57	54.3	0	0.0	105
PEORIA COUNTY HD TOTAL	22	21.0	26	24.8	57	54.3	0	0.0	105
PUTNAM CHD	0	0.0	0	0.0	4	100.0	0	0.0	4
PUTNAM TOTAL	0	0.0	0	0.0	4	100.0	0	0.0	4
ROCK ISLAND CHD	24	24.0	28	28.0	39	39.0	9	9.0	100
ROCK ISLAND CHD - CGI	2	18.2	7	63.6	2	18.2	0	0.0	11
ROCK ISLAND COUNTY HD TOTAL	26	23.4	35	31.5	41	36.9	9	8.1	111

Count and Percent of WIC Mothers by Weight Gain During Pregnancy For Women Who Started WIC in the First Trimester And Had a Full Term Pregnancy From 04/01/2010 to 06/30/2010 Region 3

FY10Q4

	LESS THAN IDEAL WEIGHT GAIN		IDEAL WEIGHT GAIN		MORE THAN IDEAL WEIGHT GAIN		UNKNOWN WEIGHT GAIN		
AGENCY CLINIC	COUNT	PERCENT	COUNT	PERCENT	COUNT	PERCENT	COUNT	PERCENT	TOTAL
TAZEWELL CHD	11	26.2	10	23.8	18	42.9	3	7.1	42
TAZWELL COUNTY HD TOTAL	11	26.2	10	23.8	18	42.9	3	7.1	42
VERMILION CHD	19	26.4	21	29.2	28	38.9	4	5.6	72
VERMILION COUNTY HD TOTAL	19	26.4	21	29.2	28	38.9	4	5.6	72
WOODFORD CHD	3	42.9	0	0.0	4	57.1	0	0.0	7
WOODFORD TOTAL	3	42.9	0	0.0	4	57.1	0	0.0	7
REGION 3 TOTAL	152	21.4	215	30.3	325	45.8	17	2.4	709

Tuesday, July 20, 2010

FY10Q4

	LESS THAN IDEAL WEIGHT GAIN		IDEAL WEIGHT GAIN		MORE THAN IDEAL WEIGHT GAIN		UNKNOWN WEIGHT GAIN		
AGENCY CLINIC	COUNT	PERCENT	COUNT	PERCENT	COUNT	PERCENT	COUNT	PERCENT	TOTAL
ADAMS CHD	4	11.8	8	23.5	21	61.8	1	2.9	34
ADAMS COUNTY HD TOTAL	4	11.8	8	23.5	21	61.8	1	2.9	34
CALHOUN CHD	1	50.0	0	0.0	1	50.0	0	0.0	2
CALHOUN COUNTY HD TOTAL	1	50.0	0	0.0	1	50.0	0	0.0	2
CASS CHD - BEARDSTOWN	1	16.7	2	33.3	3	50.0	0	0.0	6
CASS CHD - VIRGINIA	0	0.0	0	0.0	1	100.0	0	0.0	1
CASS COUNTY HD TOTAL	1	14.3	2	28.6	4	57.1	0	0.0	7
CHRISTIAN CHD	8	36.4	5	22.7	9	40.9	0	0.0	22
CHRISTIAN COUNTY HD TOTAL	8	36.4	5	22.7	9	40.9	0	0.0	22
CLARK CHD	1	12.5	3	37.5	4	50.0	0	0.0	8
CLARK CHD TOTAL	1	12.5	3	37.5	4	50.0	0	0.0	8
COLES CHD	1	6.7	3	20.0	11	73.3	0	0.0	15
COLES CHD - MATTOON	3	12.0	7	28.0	15	60.0	0	0.0	25
COLES COUNTY HD TOTAL	4	10.0	10	25.0	26	65.0	0	0.0	40
CUMBERLAND CHD	3	25.0	6	50.0	3	25.0	0	0.0	12
CUMBERLAND CHD TOTAL	3	25.0	6	50.0	3	25.0	0	0.0	12
DEWITT-PIATT BI CHD - DEWITT	1	20.0	0	0.0	4	80.0	0	0.0	5
DEWITT/PIATT BI CHD - PIATT	0	0.0	1	33.3	2	66.7	0	0.0	3
DEWITT-PIATT BI-COUNTY HD TOTAL	1	12.5	1	12.5	6	75.0	0	0.0	8
DOUGLAS CHD	1	16.7	2	33.3	3	50.0	0	0.0	6
DOUGLAS COUNTY HD TOTAL	1	16.7	2	33.3	3	50.0	0	0.0	6

FY10Q4

	LESS THAN IDEAL WEIGHT GAIN		IDEAL WEIGHT GAIN		MORE THAN IDEAL WEIGHT GAIN		UNKNOWN WEIGHT GAIN		
AGENCY CLINIC	COUNT	PERCENT	COUNT	PERCENT	COUNT	PERCENT	COUNT	PERCENT	TOTAL
EDGAR CHD	2	28.6	2	28.6	3	42.9	0	0.0	7
EDGAR CHD TOTAL	2	28.6	2	28.6	3	42.9	0	0.0	7
EFFINGHAM CHD	3	20.0	5	33.3	7	46.7	0	0.0	15
EFFINGHAM COUNTY HD TOTAL	3	20.0	5	33.3	7	46.7	0	0.0	15
GREENE CHD	5	35.7	3	21.4	5	35.7	1	7.1	14
GREENE COUNTY HD TOTAL	5	35.7	3	21.4	5	35.7	1	7.1	14
HANCOCK CHD	3	37.5	4	50.0	1	12.5	0	0.0	8
HANCOCK COUNTY HD TOTAL	3	37.5	4	50.0	1	12.5	0	0.0	8
JERSEY CHD	4	40.0	2	20.0	4	40.0	0	0.0	10
JERSEY COUNTY HD TOTAL	4	40.0	2	20.0	4	40.0	0	0.0	10
LOGAN CHD	4	23.5	4	23.5	9	52.9	0	0.0	17
LOGAN COUNTY HD TOTAL	4	23.5	4	23.5	9	52.9	0	0.0	17
MACON CHD	21	32.8	16	25.0	26	40.6	1	1.6	64
MACON COUNTY HD TOTAL	21	32.8	16	25.0	26	40.6	1	1.6	64
MACOUPIN CHD	6	18.8	9	28.1	17	53.1	0	0.0	32
MACOUPIN TOTAL	6	18.8	9	28.1	17	53.1	0	0.0	32
MENARD CHD	2	33.3	1	16.7	3	50.0	0	0.0	6
MENARD COUNTY HD TOTAL	2	33.3	1	16.7	3	50.0	0	0.0	6
MONTGOMERY CHD	4	50.0	2	25.0	2	25.0	0	0.0	8
MONTGOMERY COUNTY HD TOTAL	4	50.0	2	25.0	2	25.0	0	0.0	8

FY10Q4

		LESS THAN IDEAL WEIGHT GAIN		IDEAL WEIGHT GAIN		MORE THAN IDEAL WEIGHT GAIN		UNKNOWN WEIGHT GAIN	
AGENCY CLINIC	COUNT	PERCENT	COUNT	PERCENT	COUNT	PERCENT	COUNT	PERCENT	TOTAL
MORGAN CHD	4	14.3	8	28.6	16	57.1	0	0.0	28
MORGAN COUNTY H.D. TOTAL	4	14.3	8	28.6	16	57.1	0	0.0	28
MOULTRIE CHD	2	28.6	0	0.0	5	71.4	0	0.0	7
MOULTRIE CHD TOTAL	2	28.6	0	0.0	5	71.4	0	0.0	7
PIKE CHD	4	40.0	2	20.0	3	30.0	1	10.0	10
PIKE COUNTY HD TOTAL	4	40.0	2	20.0	3	30.0	1	10.0	10
SANGAMON CHD - DIRKSEN	12	25.0	15	31.3	17	35.4	4	8.3	48
SANGAMON CHD - JEFFERSON	10	17.2	14	24.1	33	56.9	1	1.7	58
SANGAMON COUNTY HEALTH DEPT. TOTAL	22	20.8	29	27.4	50	47.2	5	4.7	106
SCHUYLER CHD	0	0.0	1	100.0	0	0.0	0	0.0	1
SCHUYLER COUNSELING & HLTH SRV TOTAL	0	0.0	1	100.0	0	0.0	0	0.0	1
SCOTT CHD	0	0.0	0	0.0	1	100.0	0	0.0	1
SCOTT COUNTY HD TOTAL	0	0.0	0	0.0	1	100.0	0	0.0	1
SHELBY CHD	5	38.5	3	23.1	5	38.5	0	0.0	13
SHELBY CHD TOTAL	5	38.5	3	23.1	5	38.5	0	0.0	13
REGION 4 TOTAL	115	23.7	128	26.3	234	48.1	9	1.9	486

FY10Q4

		LESS THAN IDEAL WEIGHT GAIN		IDEAL WEIGHT GAIN		MORE THAN IDEAL WEIGHT GAIN		UNKNOWN WEIGHT GAIN	
AGENCY CLINIC	COUNT	PERCENT	COUNT	PERCENT	COUNT	PERCENT	COUNT	PERCENT	TOTAL
BOND CHD	4	36.4	3	27.3	2	18.2	2	18.2	11
BOND CHD TOTAL	4	36.4	3	27.3	2	18.2	2	18.2	11
CLAY CHD	0	0.0	2	40.0	3	60.0	0	0.0	5
CLAY COUNTY HD TOTAL	0	0.0	2	40.0	3	60.0	0	0.0	5
CLINTON CHD	2	15.4	6	46.2	5	38.5	0	0.0	13
CLINTON CHD TOTAL	2	15.4	6	46.2	5	38.5	0	0.0	13
COORD YTH SERV - ALTON	12	21.1	14	24.6	31	54.4	0	0.0	57
COORD YTH SERV - GRANITE CITY	13	24.1	18	33.3	23	42.6	0	0.0	54
COORDINATED YOUTH SERV TOTAL	25	22.5	32	28.8	54	48.6	0	0.0	111
CRAWFORD CHD	5	45.5	2	18.2	4	36.4	0	0.0	11
CRAWFORD COUNTY HD TOTAL	5	45.5	2	18.2	4	36.4	0	0.0	11
EAST SIDE HD/SIHF	13	31.0	10	23.8	17	40.5	2	4.8	42
EAST SIDE HD/SIHF-CENTREVILLE	3	25.0	2	16.7	7	58.3	0	0.0	12
EASTSIDE HEALTH DISTRICT TOTAL	16	29.6	12	22.2	24	44.4	2	3.7	54
EGYPTIAN CHD - GALLATIN	0	0.0	1	20.0	4	80.0	0	0.0	5
EGYPTIAN CHD - SALINE	2	13.3	2	13.3	11	73.3	0	0.0	15
EGYPTIAN CHD - WHITE	2	22.2	4	44.4	3	33.3	0	0.0	9
EGYPTIAN COUNTY HD TOTAL	4	13.8	7	24.1	18	62.1	0	0.0	29
FAYETTE CHD	4	22.2	8	44.4	6	33.3	0	0.0	18
FAYETTE COUNTY HD TOTAL	4	22.2	8	44.4	6	33.3	0	0.0	18

FY10Q4

	LESS THAN IDEAL WEIGHT GAIN		IDEAL WEIGHT GAIN		MORE THAN IDEAL WEIGHT GAIN		UNKNOWN WEIGHT GAIN			
AGENCY CLINIC	COUNT	PERCENT	COUNT	PERCENT	COUNT	PERCENT	COUNT	PERCENT	TOTAL	
FRANKLIN/WILLIAMSON CHD - MARI	15	22.7	21	31.8	30	45.5	0	0.0	66	
FRANKLIN-WILLIAMSON BI-CO FRNK TOTAL	15	22.7	21	31.8	30	45.5	0	0.0	66	
JACKSON CHD	7	20.0	11	31.4	16	45.7	1	2.9	35	
JACKSON COUNTY HD TOTAL	7	20.0	11	31.4	16	45.7	1	2.9	35	
JASPER - RICHLAND - OLNEY	4	30.8	3	23.1	6	46.2	0	0.0	13	
JASPER CHD - NEWTON	0	0.0	3	42.9	4	57.1	0	0.0	7	
JASPER COUNTY HD TOTAL	4	20.0	6	30.0	10	50.0	0	0.0	20	
JEFFERSON CHD	3	13.6	9	40.9	9	40.9	1	4.5	22	
JEFFERSON COUNTY HD TOTAL	3	13.6	9	40.9	9	40.9	1	4.5	22	
LAWRENCE CHD	3	21.4	9	64.3	2	14.3	0	0.0	14	
LAWRENCE COUNTY HD TOTAL	3	21.4	9	64.3	2	14.3	0	0.0	14	
MARION CHD-CENTRALIA	4	30.8	2	15.4	7	53.8	0	0.0	13	
MARION CHD-SALEM	3	27.3	2	18.2	6	54.5	0	0.0	11	
MARION CHD TOTAL	7	29.2	4	16.7	13	54.2	0	0.0	24	
MONROE CHD	1	100.0	0	0.0	0	0.0	0	0.0	1	
MONROE CHD TOTAL	1	100.0	0	0.0	0	0.0	0	0.0	1	
PERRY CHD - PINCKNEYVILLE	2	22.2	3	33.3	4	44.4	0	0.0	9	
PERRY COUNTY HD TOTAL	2	22.2	3	33.3	4	44.4	0	0.0	9	
RANDOLPH CHD	4	26.7	5	33.3	6	40.0	0	0.0	15	
RANDOLPH CHD TOTAL	4	26.7	5	33.3	6	40.0	0	0.0	15	

Count and Percent of WIC Mothers by Weight Gain During Pregnancy For Women Who Started WIC in the First Trimester And Had a Full Term Pregnancy From 04/01/2010 to 06/30/2010 Region 5

		LESS THAN IDEAL WEIGHT GAIN		IDEAL WEIGHT GAIN		MORE THAN IDEAL WEIGHT GAIN		UNKNOWN WEIGHT GAIN	
AGENCY CLINIC	COUNT	PERCENT	COUNT	PERCENT	COUNT	PERCENT	COUNT	PERCENT	TOTAL
SOUTHERN 7 CHD - ALEXANDER	4	33.3	2	16.7	5	41.7	1	8.3	12
SOUTHERN 7 CHD - HARDIN	0	0.0	0	0.0	2	100.0	0	0.0	2
SOUTHERN 7 CHD - JOHNSON	1	33.3	1	33.3	1	33.3	0	0.0	3
SOUTHERN 7 CHD - MASSAC	0	0.0	0	0.0	4	100.0	0	0.0	4
SOUTHERN 7 CHD - PULASKI	1	25.0	1	25.0	2	50.0	0	0.0	4
SOUTHERN 7 CHD - UNION	1	16.7	1	16.7	4	66.7	0	0.0	6
SOUTHERN SEVEN HLTH DEPT TOTAL	7	22.6	5	16.1	18	58.1	1	3.2	31
ST CLAIR CHD	14	20.9	18	26.9	35	52.2	0	0.0	67
ST CLAIR COUNTY HD TOTAL	14	20.9	18	26.9	35	52.2	0	0.0	67
WABASH CHD	4	36.4	1	9.1	6	54.5	0	0.0	11
WABASH COUNTY HD TOTAL	4	36.4	1	9.1	6	54.5	0	0.0	11
WASHINGTON CHD	0	0.0	0	0.0	5	100.0	0	0.0	5
WASHINGTON COUNTY TOTAL	0	0.0	0	0.0	5	100.0	0	0.0	5
HAMILTON CHD	3	100.0	0	0.0	0	0.0	0	0.0	3
WAYNE CHD - WAYNE	1	6.3	4	25.0	11	68.8	0	0.0	16
WAYNE COUNTY HD TOTAL	4	21.1	4	21.1	11	57.9	0	0.0	19
REGION 5 TOTAL	135	22.8	168	28.4	281	47.5	7	1.2	591

Count and Percent of WIC Mothers by Weight Gain During Pregnancy Date: For Women Who Started WIC in the First Trimester And Had a Full Term Pregnancy From 04/01/2010 to 06/30/2010

7/19/2010

	LESS THAN IDEAL WEIGHT GAIN		IDEAL WEIGHT GAIN		MORE THAN IDEAL WEIGHT GAIN		UNKNOWN WEIGHT GAIN		
AGENCY CLINIC	COUNT	PERCENT	COUNT	PERCENT	COUNT	PERCENT	COUNT	PERCENT	TOTAL
REGION 1 TOTAL	464	23.6	597	30.4	840	42.7	64	3.3	1965
REGION 2 TOTAL	465	23.9	551	28.3	823	42.2	110	5.6	1949
REGION 3 TOTAL	152	21.4	215	30.3	325	45.8	17	2.4	709
REGION 4 TOTAL	115	23.7	128	26.3	234	48.1	9	1.9	486
REGION 5 TOTAL	135	22.8	168	28.4	281	47.5	7	1.2	591
DOWNSTATE TOTAL	867	23.2	1062	28.4	1663	44.5	143	3.8	3735
STATEWIDE TOTAL	1331	23.4	1659	29.1	2503	43.9	207	3.6	5700